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ARBEITSBLATT:
THE ASSASSINATION
IN SARAJEWO AND

ITS RESULTS

Assignment:

With the so-called July Cirisis in 1914, World War | began. On the
28™ of June, 1914, a Serbian student assassinated the Austrian
heir to the throne, Franz Ferdinand, and his wife Sophie in the
Bosnian city of Sargjewo. Serbia was suspected to be
responsible for the assassination, and this suspicion was enough
for Austria-Hungary to declare war on Serbia on the 28th of July,
1914, This resulted in a chain reaction which was welcomed by
many governments.

Describe this chain reaction that resulted in a war involving the
whole of Europe, and specify the position of a major part of the
German population when the war started!

Answers:

2" chapter ¢ The beginning of the war — The assassination in
Sarajewo




